MATEMATIKA 8.TŘÍDA   1.6.- 5.6.2020
Vydělte. Řešení zapisujte bez mezer. 
[bookmark: _GoBack](16v + 16v) : 16 = 
18b : 9 = 
32a : 8 = 
1 000b : 100 = 
(21a + 6a) : 9 = 
16v + 16v : 16 = 
99v : 11 = 
22v : 11 = 
4z . 4 : 4 = 
144z : 2 = 

Vydělte. Řešení zapisujte bez mezer. Mínus použijte u číselné klávesnice.
Začátek formuláře
(23abc – 23ac) : 23a = 
(45ab + 55a) : 5a = 
(24m + 12n) : 2 = 
(2a + 9ab) : a = 
(12abc – 6ac) : 6ac = 
(18a – 6ab) : a = 
(30xy – 10y) : 5y = 
(21ab + 7b) : 7b = 
(23a – 6abc) : a = 
(21xy – 35x) : 7x = 
Konec formuláře
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